
 

 

Revology Performance - P/N: REV-M58-19200  

1964.5-1970 Mustang Coyote Cold Air Intake Kit Contents  
 

AIR BOX BASE 

1 x AIR BOX BASE 

3 x LATCHES 

6 x #6 BOLTS 

6 x #6 LOCK NUTS 

12 x #6 WASHERS 

2 x M8 x 25mm BOLTS 

2 x M8 LOCK NUTS 

4 x M8 WASHERS 

6 x ¼ in. x 1 in. BOLTS 

6 x ¼” WASHERS 

 

AIR FILTER 

1 x K&N Air Filter w/ 6 in. inlet 

 

AIR BOX LID 

1 x LID 

1 x LID SEAL 

 

 

 

 

 

 

 

TUBE ASSEMBLY 

1 x MAF TUBE INNER 

1 x MAF TUBE OUTER 

2 x MAF SCREWS 

1 x MAF TUBE TO ELBOW BAND 
CLAMP 

1 x ELBOW 

1 x ELBOW TO THROTTLE BODY 
BAND CLAMP 

1 x VACUUM CAP 

 

APRON PANEL 

1 x APRON PANEL 

1 x APRON PANEL SEAL 

12 x ¼” RIVNUTS 

1 x PREFILTER 

1 x PREFILTER RETAINER 

3 x ¼” x 1” BOLTS 

3 x ¼” WASHERS 

 

 

 

 

 

 

PARTS NOT INCLUDED 

1 x MAF SENSOR 

 

 

 

 

 

 

 

 

 

 

 

 


